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401 Al HIZ R 0HHI 3,001,000 3,001,000
01 AlZ28| 3,000,000 3,000,000
O & 242H dE x4 3,000,000
03 Al2 20 1,000 0 1,000
O AN & 2ZH HH &d 4 1,000
=M HRE 14,000 13,000 1,000
201 Ler23| 14,000 13,000 1,000
01 At2teltl 14,000 13,000 1,000
O=7Met HE2 14,000
YA LU0 S RASAI (S 2 XRHE) 250,000 0 250,000
s 250,000
401 Al HIZ 2018 250,000 0 250,000
= 250,000




FA 2ZAEN
MM BRAY WS
el 2R (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 250,000 0 250,000
OFGu 2HOIF 2 A SAY 250,000
= 250,000
Aoligt HAE20IE BASALY 630,000 350,000 280,000
= 315,000
Al 315,000
401 Al HIZL 201 630,000 350,000 280,000
= 315,000
Al 315,000
01 Al&H| 629,000 350,000 279,000
OAMdlig SA1ERL01E HASIALY 629,000
[ 315,000
Al 314,000
03 Al 20HHI 1,000 0 1,000
OKolieh JAAIERI0IE HASIAIY 1,000
o2t 3,274,000 4,944,500 A1,670,500
= 375,000
Al 2,899,000
oH2AZHR =& 162,000 173,500 A11,500
201 Let=23 | 58,200 59,000 A800
01 At2teltl 3,200 4,000 A800
Odfet2td gRFa 3,200
02 S3=gHl 55,000 55,000 0
OZ2ssEa s HaAMNE 2 2 2323 55,000
202 04| 2,800 3,500 AT700
01 =LHO LI 2,800 3,500 AT700
Odfef2d dRFa 2,800
401 Al HIZL 01| 101,000 111,000 10,000
01 Al&HI 100,000 110,000 10,000
Oser2ZAILE(Hetda 8) g8l & 80,000
OdR AJ0IHetel HUetMAIt 10,000
OUAIT THZa M HEHAMEE 10,000
03 Al 20HHI 1,000 1,000 0
OdfiZ22AIE g4l & 25+ =8 1,000
=S 2& X LMY =2 361,000 882,000 /521,000
201 er23| 125,000 140,000 A15,000
01 At2teltl 125,000 140,000 15,000
OS=EsHESAM EX LU= (LS
) 125,000
401 AlZHIZ SO 236,000 742,000 506,000
01 AlZ28| 235,000 740,000 /505,000
OAZ= 2B SEZA 100,000




FA 2ZAEN
Nm: pzagl AE
el B (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=ds2&X GISB =5 89 95,000
OsZs2ZX W AIEE |2+ 40,000
03 AIZSTHY 1,000 2,000 21,000
OzZs2ZX U AEs sAEs = 1,000
=22 2&X MG 2AT 01 1,501,000 2,001,000 /500,000
401 AIEHIZ SR 0HYI 1,501,000 2,001,000 A500,000
01 Al&H| 1,500,000 2,000,000 A500,000
=ds22 X =4 EXN0HY 1,500,000
03 Al 2CHYI 1,000 1,000 0
OEXY g =& 1,000
HI%I)]HHIIDE' ZZHASIAIY (2322 XN E) (e 1,250,000 1,399,000 149,000
A
=S 375,000
Al 875,000
401 AIEHIZ SR OHYI 1,250,000 1,399,000 149,000
< 375,000
Al 875,000
01 Al&HI 1,250,000 1,399,000 149,000
OISO 2 2 EA3HA 1,250,000
== 375,000
Al 875,000
SHZAIE 1,499,122 2,175,963 N\676,841
= 50,000
Al 1,449,122
SFANEE R = 3,760 4,700 2940
201 fer= 3| 1,280 1,600 A320
01 At 2|l 1,280 1,600 A320
OZZALYLR = 1,280
202 04| 2,480 3,100 AB20
01 =LHO LI 2,480 3,100 A620
OFANEER A 2,480
ZHAOHN M S (2 OHHDIBIAIE JH| L A FA 100,000 100,000 0
(@ e Al)
= 50,000
Al 50,000
401 Al HIZ S OHbI 100,000 100,000 0
=S 50,000
Al 50,000
01 AlZ8| 100,000 100,000 0
OZZHHE L SHHEXIE FH & A (A
EhALY) 100,000
< 50,000
Al 50,000




SN 2REED
HH: pEae AE
el 2AFAIE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
22X NS SAES(SIH )= 171,000 231,000 260,000
401 Al HIZL 201 171,000 231,000 260,000
01 Al&HI 170,000 230,000 60,000
O ANEE RXEx SIHAHARIE, ®
Jl, 84, ZBAEE 8) 170,000
03 AIESTHYI 1,000 1,000 0
O2ZX ANEE |XE4(EIHHL) =2 1,000
Sht2AZ X 2eARa S 28 2l =N 792,508 869,782 NTT,274
101 e124d| 432,708 425,382 7,326
M ORNZZ2NSE S 432,708 425,382 7,326
O2ts+=3¥ KAl 224 B+ = 432,708
201 er23| 331,800 336,800 25,000
01 At2teltl 28,800 33,800 /5,000
O2lts+3& a4 242/(100H2) 12,000
O2UCIANRA SUGHIAAY =25 1,800
O2L&CIARA SAPD| itz 2,400
O2Lts+3 W AIES 2A2(HAAIL) 3,200
O2ltz+=33U &=% S MH 2,400
O&y|gta e el === 3,000
OV 2l AHEZ 4,000
02 s3=gHl 303,000 303,000 0
OEXY FAALH(RFIUH S) 4,000
Oul=Jl 24 2 |FH| 3,000
O2ltz+38 3323(8II) 216,000
Osltz+3d 33r3(8) 24,000
O2ltz+3 332 (4ot+k) 36,000
O=2lt=z+=3% 3&d S FA22l 20,000
206 M=l 28,000 356,000 A7,000
01 MZH| 28,000 35,000 AT7,000
O2lls+3d =37 & 25 Al S 28,000
22X BAAE EXIFd 312,000 852,000 /540,000
401 AIEHIX R0 312,000 852,000 /540,000
01 A28l 310,000 850,000 A540,000
O=2Llicdl 3BAd=E S TS 30,000
OSla+=38 NEE MM (AF, A
TBANEE ) 280,000
03 Al 20HHI 2,000 2,000 0
OBEQAIE EX SAESE S 2,000
QEVUY =g 49,500 41,000 8,500
201 eer23| 14,500 11,000 3,500
01 AtR2t2|HI 6,000 6,000 0
O==M& Fg S 6,000
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A SAIT A
I K=}

g Al A

CHelr SAITHA AL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 7,064,400 12,749,540 A5,685,140
= 1,859,000
== 288,300
Al 4,917,100
NEIobsst TADIEE 24 5,140,020 10,406,800 A\5,266,780
= 610,000
< 126,600
Al 4,403,420
CAITHAAS 4,918,980 10,309,000 /5,390,020
= 610,000
== 126,600
Al 4,182,380
SAITHME S5 = 250,000 500,000 250,000
401 A2 HIRL 201 250,000 500,000 A250,000
01 Al&H| 250,000 500,000 250,000
OAETN TETH 22HE 28 B 250,000
SAITHAXI 2 HE =2 21,760 22,300 2540
201 Ler23| 21,760 22,300 2540
01 At2teltl 5,760 6,300 A540
O] AR (M) 1,800
Odle SAEX, AIREE S 223 728l 2,160
OXI2dEH 20188 =4 1,800
2 35284l 16,000 16,000 0
OXJHE & SHUH 204 HI|, =&, &
L= 16,000
CANY=EANLUS 62,960 68,700 n5,740
= 10,000
Al 52,960
201 fet= 3| 50,000 54,000 24,000
s 10,000
Al 40,000
01 AFS2t2ltl 50,000 54,000 24,000
OZANE7ES2US S 2 =8 16,000
OZAIN4 OFLHI0I & XI2HE 28 S 34,000
= 10,000
Al 24,000
202 04t 10,960 13,700 A2,740
01 =LHNHI 10,960 13,700 A2,740
OEANHd=ES2US S g% =M 10,960
203 =4l 2,000 1,000 1,000
03 A=A 2= 2,000 1,000 1,000
OZAIHHAI A 2= 2,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SATHEA S 2 84,860 87,700 22,840
201 er23 | 28,160 32,700 A4,540
01 At2teltl 28,160 32,700 A4,540
OEAMNEAS 28 S 2,160
BCRA BB S 26,000
202 04| 1,600 2,000 A400
01 2LHA b 1,600 2,000 A400
O=U=Z0H] 1,600
307 lztol & 55,100 53,000 2,100
04 QIZHHAIAIRH 2 X 55,100 0 55,100
ORASHel & XI=K| 41,600
OHMl4=l g4 stitg 13,500
oHalEsS SAIHY=EA 3,690,000 6,407,000 A2,717,000
101 e124d| 81,000 72,000 9,000
04 JIZtN2Z2 XS+ 81,000 72,000 9,000
OZATHARE X EHE JIZIHMZZEXNS 2
= 81,000
201 2egh=3| 805,000 5,000 800,000
01 At2t2ltl 5,000 5,000 0
OZAIHMERERZLE & HEHA 29 5,000
03 A= I 800,000 0 800,000
Odlials EAIMAl=E A 800,000
202 048l 6,000 6,000
01 2L AL 6,000 6,000
O ATHEAIE =& 6,000
207 AR 80,000 80,000
01 H7ESHI 80,000 80,000
OFAgZAMNE S 80,000
301 EtE NS 2,000 2,000
11 dALEEIXIZE S 2,000 2,000
OFANY HHEA 2 dHl S 2,000
401 AIEHIX S0 1,916,000 6,232,000 /4,316,000
01 A28l 1,911,000 6,227,000 /4,316,000
Otfals TAITHA=E A (0I0HE) 1,500,000
Otfdls ZAIMA=E A 411,000
03 Al 20HHI 5,000 5,000 0
Odlials SAIMA=E A 5,000
405 AHatE = 800,000 800,000
01 ML ESFSHI 800,000 800,000
Odlials EAIMA=E A 800,000
A2ES TAMY=EAY 11,000 1,833,300 1,822,300
201 ZBt=Ehl 11,000 16,000 A5,000




2A:

E M

ol S AITHAS AL (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,000 10,000 /5,000
OAES TAIMAAY L=, Xtz
Z9Hl S 5,000
02 S3=gHl 6,000 6,000 0
O=ESAE 3323, AE&8HI=AHl S 6,000
LI23S TAITHA QIEALY 711,600 0 711,600
[ 610,000
= 101,600
401 AlEHIZ SO 711,600 0 711,600
= 610,000
s 101,600
01 Al&H| 711,600 0 711,600
OLI23S AT H ALY 711,600
= 610,000
[ 101,600
TOAIBI 23 el 2 2t 71,800 0 71,800
201 fer= 3| 20,000 20,000
01 At 2|l 20,000 20,000
OAlZlZstel2t 2 22 20,000
202 04| 1,800 1,800
01 =LHO LI 1,800 1,800
OAl2IZ3ta|2t 2e|ge =& 1,800
401 AlZHIZ SO 50,000 50,000
01 Al&H| 50,000 50,000
OAlglZstal2t AlIdE A2 FYI 50,000
HFHE A SHel IS EF(NYLEEH) 15,000 0 15,000
=S 15,000
401 Al HIZL 2018 15,000 0 15,000
= 15,000
01 Al&HI 15,000 0 15,000
OFES 2HMSHe SFME At 15,000
[ 15,000
ATHAZ K 221,040 97,800 123,240
SAITHY Al 2t 221,040 97,800 123,240
201 fer=3| 67,200 48,000 19,200
01 AtR2tc|Hl 7,200 9,000 21,800
OEAITHMEAIZ 22| ARE 7 & otz
89 S 7,200
02 S5=2g4l 60,000 39,000 21,000
OZAMHAIY &I, 84,523 S 60,000
202 04t 3,840 4,800 A960
01 =LHOHI 3,840 4,800 A960




SA: SATHA D
33 XNHIksst TADE &4
Chel: SAITHAZ R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZANY 2elge =& 3,840
401 AIEHIX SO 150,000 45,000 105,000
01 AlZH| 150,000 45,000 105,000
OFANEAIZ=E 212 JH 50,000
Osgs s93d 2 o 100,000
FE 2AE & 2E 1,904,100 2,323,000 418,900
= 1,249,000
[ 161,700
Al 493,400
=S 1,904,100 2,323,000 418,900
s 1,249,000
== 161,700
Al 493,400
CAIFAHRZONE AL 118,000 121,000 A3,000
201 2= 27,000 26,000 1,000
01 At22t2lt] 6,000 5,000 1,000
OFHetZNLXF Let+=8H|, Sig, S
AHl S 6,000
2 s5=34l 21,000 21,000 0
FHEEMNEXF S82=, AMEFBIRAX
Bl S 21,000
202 04| 1,000 1,000
01 2K 1,000 1,000
FAHRZNEX 2 AldE 88 & 22l &
e Fx 1,000
401 Al HIZL 201 90,000 95,000 25,000
01 Al&H| 90,000 95,000 /5,000
FHEEMNEX 0= & +=SHE SA 60,000
OFNHEZMERT AMES Uad 2 FX
2+ S 30,000
oSS FAXNS 202 WA 573,200 1,020,000 A\446,800
[ 400,000
= 52,500
Al 120,700
402 2IZtA=01d 573,200 160,000 413,200
[ 400,000
= 52,500
Al 120,700
03 2IZ+RAETAIS I 573,200 160,000 413,200
O&=cl A XI& 573,200
= 400,000
< 52,500
Al 120,700




2A:

X XH -
o=

S AIRH A4 D

=
Zel 2An o

cHels FEONE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HES FHAXNS A WA 1,212,900 1,182,000 30,900
= 849,000
== 109,200
Al 254,700
202 04| 1,000 2,000 21,000
01 =LHO LI 1,000 2,000 A1,000
OdAs MSOEEAME =& 1,000
207 ARl 51,000 60,000 29,000
= 35,700
Al 15,300
01 1= 51,000 60,000 29,000
ORI € AL WSF S 51,000
[ 35,700
Al 15,300
401 AIEHIZ R 0HYI 960,900 980,000 219,100
= 673,300
= 91,200
Al 196,400
01 AlZ2H| 960,900 979,500 18,600
OJIBAIE AAIZAH L BAF 960,900
[ 673,300
= 91,200
Al 196,400
402 2I2F X201 & 200,000 140,000 60,000
[ 140,000
= 18,000
Al 42,000
03 2IZ+RAETAIZ I 200,000 140,000 60,000
O=HEBINZAIY =& 200,000
[ 140,000
= 18,000
Al 42,000
HH2LZHI(ZAITHA D) 20,280 19,740 540
JI2ZHI(ZAITHA D) 20,280 19,740 540
JI2ZHI(SAITH A1) 20,280 19,740 540
201 =3 16,500 16,500
01 At2t2lt] 16,000 16,000
OZANYE =N Lty 16,000
2 35234l 500 500 0
ostes s 500
203 =] 3,780 3,240 540
MU FAZSLIFAI 3,780 3,240 540




SA: SAIXHAHD}
I SHESHAH| (T AIKHA D)
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A HSAIEW
Zu: Hsws
el dsgds =4 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEMS 19,908,390 23,301,671 A3,393,281
Jl 1,689,336
== 1,456,463
Al 16,762,591
HEdE 13,419,047 17,956,829 AN\4,537,782
Il 1,689,336
< 1,456,463
Al 10,273,248
=243 =4 9,778,034 10,089,234 A311,200
Il 1,539,336
== 1,156,463
Al 7,082,235
do|E M= ¥ 4= 245 N3 110,200 124,500 14,300
201 2= 84,300 93,500 29,200
01 AtR2t2lt] 44,300 53,500 29,200
OM=lz = 222 M 13,600
OLZ=0PIE HRFXN 11,600
O%& Msla s 228 7¢ 11,200
OANRES 7Y & 6,400
OFHZE 2= 72 S 1,500
2 352484l 40,000 40,000 0
OM=Uz=l 2 A8 FXl2cl 20,000
OAR=[PDIEE 32 & MR 20,000
202 04| 12,800 16,000 A3,200
01 2L A 12,800 16,000 23,200
OXM=0al 23 S&H0 12,800
203 =] 5,000 6,000 A1,000
03 A=A 2= 5,000 6,000 A1,000
OM=lUzl 2l 2= 5,000
301 EtE NS 8,100 9,000 A900
11 dAMEEIXIE S 8,100 9,000 A900
O&=HE S ASMSU BII2Y 8,100
T MES0etEN S 900,000 900,000 0
= 100,000
Al 800,000
201 fer= 3| 300,000 300,000
01 AtR2t2|HI 300,000 300,000
Oz &Mt 0etEN] 2E53H & 82
s =d 300,000
307 elztol & 600,000 600,000 0
= 100,000
Al 500,000




A HSAIEW
33 MEdE
=2 Msgdst =8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 600,000 0 600,000
Oz &tMEtS0tetEN 2 600,000
= 100,000
Al 500,000
=461 d=std=E203 900,000 900,000 0
s 150,000
Al 750,000
307 21201 & 900,000 900,000 0
< 150,000
Al 750,000
04 QIZHHAIAIRH 2 X 900,000 0 900,000
O34t d=2(=S)sdE703 280,000
S 50,000
Al 230,000
O34l d=(SS)srd=7U3 300,000
= 50,000
Al 250,000
O34t d=(1s)std=703l 320,000
[ 50,000
Al 270,000
AN S E I3ES VIR 260,000 260,000 0
= 60,000
Al 200,000
307 el2to| & 260,000 260,000 0
= 60,000
Al 200,000
04 QIRHHAMAIH 2 £ 260,000 0 260,000
OZ A MES=HEQI3ESE 260,000
== 60,000
Al 200,000
H=AT=ZCH0I2UE 130,000 130,000 0
= 30,000
Al 100,000
307 elztol & 130,000 130,000 0
= 30,000
Al 100,000
04 QIZIHAIAME 2 & 130,000 0 130,000
O&=AZXZ2H0I2HE 130,000
= 30,000
Al 100,000
TOMESE =012l tEN 2 180,000 220,000 240,000
[ 100,000
Al 80,000




A HSAIEW
M MsdE
el dsgds =4 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 180,000 220,000 240,000
= 100,000
Al 80,000
04 CIZHHAMAMH 2 & 180,000 0 180,000
Oz ttMRts d=elcielorehEzl 180,000
= 100,000
Al 80,000
T2 & AEX0OBIE WX 49,100 100,000 50,900
307 212+01& 49,100 100,000 50,900
04 QIZIHAIAIH E X 49,100 0 49,100
OZ2F)| & AEXXOIME Z4DHE X 49,100
TMESZUE 30,000 210,000 180,000
= 30,000
307 21201 & 30,000 210,000 180,000
< 30,000
04 CIZHHAMALH 2 & 30,000 0 30,000
O ARES T (KPGA) 20,000
= 20,000
O AREZS US| (KLPGA) 10,000
= 10,000
H=ZZUHSPHEIXIE 76,000 80,000 24,000
= 10,000
Al 66,000
307 elztol & 76,000 80,000 24,000
= 10,000
Al 66,000
04 CIZHHAMALE 2 & 76,000 0 76,000
O&= st =Tzl HEIXS 76,000
= 10,000
Al 66,000
=K & d=0Hal izl XA 211,600 225,260 13,660
101 e124d| 71,600 75,260 A3,660
M ORNZZ2NSE S 71,600 75,260 23,660
O=H & d=lU3 222X 36,000
Ozl ZI1& 21d - otd2te 35,600
201 fer23| 40,000 50,000 10,000
03 A= SHI 40,000 50,000 10,000
O=Hl - =03 M2l =H & 2 X 40,000
401 Al HIZ R 0HHI 100,000 100,000
04 AR2E AIEHI 100,000 100,000
O=M - =03 AN X & 22 100,000
H=EH 2 CHRIOHEI X2 100,000 80,000 20,000




A HSAIEW
M MsdE
el dsgds =4 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 60,000
Al 40,000
307 lztol & 100,000 80,000 20,000
= 60,000
Al 40,000
02 2IZHBYAIHE X 20,000 80,000 60,000
OHAE RUIAZ SN & 243 MOILE 20,000
= 20,000
04 CIZHHAMAIRH 2 & 80,000 0 80,000
OMEtSHl &= Hid = Hal 80,000
= 40,000
Al 40,000
HAFHANOZLE RS 40,000 36,000 4,000
s 10,000
Al 30,000
307 212+01& 40,000 36,000 4,000
[ 10,000
Al 30,000
04 QIZHHAIAIRH 2 & 40,000 0 40,000
O&=dHAMNZHE U2 40,000
= 10,000
Al 30,000
TAIMEESHE A== R 10,000 50,000 40,000
= 10,000
307 lztol & 10,000 50,000 240,000
= 10,000
04 QIZHHAMAIH 2 £ 10,000 0 10,000
OZ& MEtsSHl M=Ui=eE sl 10,000
== 10,000
TAMSE =203 15,000 60,000 45,000
=S 15,000
307 glztol & 15,000 60,000 /45,000
= 15,000
04 QIZHHAMAIH 2 & 15,000 0 15,000
OZ&tMEtSHE d=2Z0|0 3 15,000
[ 15,000
THMESI] B3R 0FU = 20,000 20,000 0
s 8,000
Al 12,000
307 212+01& 20,000 20,000 0
[ 8,000
Al 12,000




A HSAIEW
33 MEdE
=2 Msgdst =8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 20,000 0 20,000
OIS E=3FE 02 20,000
= 8,000
Al 12,000
NN =P ESDNEE 389,000 497,000 108,000
s 217,000
Al 172,000
307 21201 & 389,000 497,000 108,000
< 217,000
Al 172,000
04 QIZHHAIAIRH 2 X 389,000 0 389,000
OTLAIFL HESH & 14,500
S 7,000
Al 7,500
OZAH MM FH 7,500
= 5,000
Al 2,500
O LB ZH €530 &= =SsHd OF
U= 24,000
< 10,000
Al 14,000
OZLMEISLSE d=Fad S0 15,000
= 7,500
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